
i.5
0 

e.50
 

45
 

i.3
9 

 370 

 135 

N°3 Allen screw
M8X60 T.C.E.I.Z.B.
Cod.200949

N°4 Alluminium spacer
SBK d.27X8.5
Cod.204321

SPACER TO COVER 
HOLES OF ORIGINAL 
FRAME

Short helical spring
tensile
Cod.204387

Short tube in
silicon rubber
Cod.204412

Pipe N° 1058
Cod.3014019201

BIG silencer 
NERO Øi 50 
Cod.3014000471U

Knurled collar nut M8
Cod.200298

S.S. Black Bracket 
Cod.206290

Strap in stainless 
steel Ø41
Cod.300041531

Allen screw
M8X25 T.C.E.I.Z.B.
Cod.200314

Cap N°57 
Cod.308078804

Grower Ø5 Cod.202286

Allen screw M6X8 T.C.E.I. INOX
Cod. 200834

Rubber cap
Cod.204790

DB-Killer N°32 B
Cod.307762801

Art. 14019U

PEUGEOT METROPOLIS 400 ('13 / '15)

Slip-on "NERO" - Passaggio STANDARD 


	Model
	Vista del disegno1
	Vista del disegno2


